=

oo
4
i
e
k1
—_
t
o
o
[N}
(an)
o,
o
ro
>
)
o
£
pouy
rlo
2
Ir
Py
1A
L
N
D

@i, @By w4 @B 61

B

15 o]4F 20 o]8}Q) S 15 Bt A7 2T 20K} A
Ze Ut

5
A 195, 15.9, 18, 16.4 YU},




Th& % FolA] 46 27 51 B]5Hl 57} ok 21 o] AU

|
o 250, @© @us O

46 23} 51 n|Ftel ol = 461 512 EGHE] ] b5t




@ 119.8 ® 99.6

® 100.9

3
1

@134

‘ 98HTH 31, 120 Rt &2 »8 BT

1
© 985

e,

K




4.

65 ol4fol | A5k FEE o) § T 4 AU FEZ ol
% G Lol 2 Ax|oj7l 21 o] 2

@ 60A, 67A @ 6541, 80A ® 66A1, 75A]
@ 704, 754 @64*1], 62A]

65419} ZAL AR B2 o8 4 Uit
Raa ol g 8 4 gl ol 6548
e @AY

i)
)
rlo
(@)
=~
=
>
[N}
=
o

O
fu




1 2
21, 27, 29, 30.3, 356’ 37.2, 415

i

o

vV VvV VvV v v Vv
0
i

21
HMED 27
HerD 29

35 A|Tl 4= 21, 27, 29, 30.3 0] 1L o] FolA AA4E 21, 27,
29 YU,




6.  21x326m|REe] H4=0] e} 15 %3 201 WHe] Z40] Afj4=2] 9Fe)
TIHA L.

> E:

> Het: 4

L 22 240|2 & 270t}
L 17, 190|2& 270t}
A et} SHE FE2 2 + 2 = 4 JY T




i)
oo
)
<
™,
1
1L
%
do
1o
i
rlo
s,
rlo
<
In
POV
o
i
N
-9

© 45x3} L T SIS
%21t 55 o] 5].0] Py
® 44 %3} 550|585} @ 46017 56050 <
[¢) o i
ot @) 44 =3} 5401511 &=
-

® 45x1} 56 0] =

B

45 ]/\]—5 —

o 51| T+ 45. 46. 4 VIS b]l:}
4]; — ‘1__1:1‘1 1_@, @1_: o @ a 1101

oz 55057t E 4 gl 5]4!]']5—? - |
ol g olst7} = ol l’ TR _/x\_—a]___‘—-

¥t @YYt




=89 4ol 32cmZ 7} 48 cmo|shl FAMZEE S ¢ HO 2 of
AEAAE S Uk o] A|HA Y] Aol do]of g
[ ]kl 9=RH Az 24 L.
(T, 24 AA A7EAe Yeh Al 2.)

:cm U :cm o]t

o

o

. 96

v V. v Vv
0
i

0
n

= . 1441

~&B

32+4=28(cm)olA 8em¥ o HA O] Aojof 9t 8x12=
96( cm)

48+4 = 12(cm) oA 12em ¢ o A =] 9] Zo]o] §t: 12x12 =
144( cm)

wraba] Al o] Ao]o] §h2 96 cm %} 144.1 cm T Rho] T},




e[ el gwe B AR 24,

ol nh& WA £ @ FL 64 nThe T g7 134 717
150 Y, 14 A5 E 300 Y, 604 o] Fadyct o] np
HAS E uf 30092 272 Hof k= AFEe] Lol 144

\ 60 A | (©) 2 Jehdyrct,
» g
> &
Het: ol4
> ®E: og

1Al ~ 54 - B8

64 ~ 134 : 150

144 ~ 5941 : 300¢

604 ~ : Hgo|mg

30099 872 e AFEY] trol= 144 o4, 604 BI9EIY
}.




10. th [ Joll G 55 AR 242,

o] 7ol 71 ojzte] 554 ko 677H2] 227t
W orom 487) 0] |47 Wagrt, s i

7
[ e[ 3 elskaiet,

’ -l §
> Ct
el o331

> =g 335

5 g2 AL 1 67x5=335(F)

mpz|gl ojzte]] 17 o] ghe ¢ 1 335 -4 = 331(%)
TR QF2 7 1 48 % 7 =336('8)

apR]ef o)z 17 o] b2 ¢ 1 336 — 6 = 330 ()
330 3%, 584 ed 66712 227t

L asky, 3369 8- 584 otod 68719
27t B agtyrh

whebA] g 4= 3317

o]/ 3357 olstydHrh.




